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The goal of this script is testing errors for different boundary integral formulations of
AU+ KU=0 inQp, 0U—1kU=o0(r"1?) asr— oo,

with
U=0=-Uyn onl, or OU=p=-0,Upn onl.

Physical parameters, exact solution, geometry, and observation points. We
will write everything in terms of the resolvent equation

AU —s*U =0 s= —ik.

The exact solution is
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where x* := (0.1, 0.2) has to be in the interior of the domain. The incident wave
Uinc — —U,

gives U as the exact solution of the exterior problem. The geometry is the union of the
TV-shape (see deltaBEM documentation), which fits in a square [—1.6,1.6]?, with the
ellipse

(ZEI — 4)2 + i(l’g - 5)2 =1.

The solution will be observed in four exterior points:

X(1)bs = (074)7 XCQ)bS = (47 0)7 ngs = (_47 2)7 XZbS = (2’ _4)



Discretization. We will use 2N points to discretize the TV-shape and N points to
discretize the ellipse. The domains are sampled (three times ¢ = 0,—1/6,1/6) and the
discrete geometries are merged. Next we compute the elements of the Calderén Calculus,

Q, M, V(s), K(s), J(s), W(s).

The four operators depend on s and are output as function handles. We next sample the
incident wave (see Chapter 3 of the deltaBEM documentation)
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Finally we create the single and double layer potentials
S(s), D(s)

at the observation points.

Integral formulations. Non-physical densities will be denoted n for the S.L. potential
and v for the D.L. potential. The effective density for the D.L. potential (the one that
appears in potential expressions, but not on integral equations) is Qtp. The approximation
for the exterior trace and normal derivatives will be ¢ and X respectively. The effective
approximation of the exterior trace (appearing in potential expressions, and also as the
final approximation of the exterior trace) will be ¢ = Q.

1. (iDO01 - Dirichlet problem — indirect formulation)
V(s)n =By, MA=—jMn+IJ(s)n, Up=S(s)n, Mo=p, ¢=Q¢.
2. (iD02 - Dirichlet problem — indirect formulation)
MY +K(s)yp =By, MA=-W(s)p, U,=D(s5)Qp, Mo =8, ¢=Qs.
3. (dDO1 - Dirichlet problem — direct formulation)
V(s)A = —3Mp + K(s)¢p, Up=D(s)Qp —S(s)A, Mo =8, ¢=Qe.
4. (dDO02 - Dirichlet problem — direct formulation)
sMA+ ()N = =W(s)¢, U, =DQo —S(s)A, Mo =5y, ¢ =Qo.
5. (iNO1 - Neumann problem — indirect formulation)
—sMn+J(s)n=pB, Me=V(s)n, Uy,=S(s)n, MA=p5;, ¢ =Qe.
6. (iN0O2 - Neumann problem — indirect formulation)
W(s)p = —B1, Mo = Myp+K(s)p, U,=D(s)Q¢, MA=p;, ¢=Q¢.
7. (dNO1 - Neumann problem — direct formulation)
—5Mo+K(s)p =V(s)A, U, =D(s)Qp —S(s)A, MA=p,, ¢ =Qé.
8. (dN02 - Neumann problem — direct formulation)

W(s)p = —2MAX—J(s)A, U, =D(s)Qp —S(s)A, MA=0;, ¢ =Qo.



Computation of errors. In all the formulations we will have approximations

Un(x™) = U(x™), i=1,...,4, ¢;~U(m;)=: o Ay~ VU(my) - n; =: B
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Note that [n;| = O(N~!). We then compute errors:

epor = max |U,(x5™) — U(x™)| = O(N7?),
ex = Nmax|\ — 875 = O(N—).
e, = max|p; — 5| = O(N™?),
The errors are output as a row vector (in the given order).
There are two different modes to run this script:

e If a variable external HAS NOT been defined, the script requests the user to input:
k, N, the experiment number (1 to 8) and whether the fork will be used or not.

e If the variable external has been defined, these data need to have been declared in
advance. In this case, the errors are appended as an additional row to a matrix of
erTors.



